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Общие требования к выполнению контрольной работы по дисциплине «Культура речи первого иностранного языка», 

Контрольная работа должна быть выполнена в отдельной тетради. На обложке тетради необходимо указать: факультет, курс, номер группы, фамилию, имя и отчество, дату, номер контрольного задания.
Вариант контрольной работы определяется по последней цифре зачетной книжки: 1, 2, 3, – 1-й вариант; 4, 5, 6, – 2-й вариант; 7, 8, – 3-й вариант; 9, 0, – 	4-й вариант.
Первую страницу необходимо оставить чистой для замечаний и рецензии преподавателя.
Все предлагаемые к выполнению задания переписываются на левой стороне разворота тетради, а выполняются на правой.
Контрольная работа должна быть написана четким почерком, для замечаний преподавателя следует оставить поля.
Контрольная работа, выполненная не полностью или не отвечающая вышеприведенным требованиям, не проверяется и не засчитывается. 
Проверенная контрольная работа должна быть переработана обучающимся (та часть ее, где содержатся ошибки и неточности перевода) в соответствии с замечаниями и методическими указаниями преподавателя. В той же тетради следует выполнить «Работу над ошибками», представив ее на защите контрольной работы.  



















Контрольная работа по дисциплине 
«Культура речи первого иностранного языка» 
(4 курс 7 семестр)
                                                                                                                                  Вариант 1


TASK 1: Read the text and translate from  English into Russian.

The flag of the United States of America consists of thirteen equal horizontal stripes of red (top and bottom) alternating with white. There is a blue rectangle in the upper hoist-side corner bearing 50 small, white, five- pointed stars arranged in nine offset horizontal rows of six stars (top and bottom) alternating with rows of five stars. The 50 stars on the flag represent the 50 states and the 13 horizontal (7 red and 6 white) stripes represent the 13 original corlonies. The red stripes proclaim courage, the white stripes proclaim liberty, the field of blue stands for loyalty. The United States flag is commonly called the Stars and Stripes and less commonly Old Glory. The name Old Glory was coined in the 1830s, and was of particularly common use during the era of 48-star version (1912 to 1959). While institutions often display the flag year-round, most homeowners reserve flag display for civic holidays like Memorial Day, Veteran’s Day, Presidents’ Day, Flag Day and the Fourth of July. On Memorial Day it is common to place small flags by war memorials and next to the graves of U.S. war dead. The US flag was raised in its first unified form on January 2, 1776 in Cambridge, Massachusetts. It consisted of 13 alternate red and white stripes, equal to the number of states. WConnecticut, Delaware, Georgia, Maryland, Massachusetts, New Hampshire, New Jersey, New York, North Carolina, Pennsylvania, Rhode Island, South Carolina, and Virginia. For that flag, on June 14, 1777, “The Flag Day”, Congress substituted a similarly striped flag with 13 white stars on a blue field in the left-hand comer. In 1794, with the admission of Vermont and Kentucky, Congress added two more stripes and two more stars. To some U.S. citizens, their flag symbolizes many things. They have seen it as representing all of the freedoms and rights guaranteed in the U.S. Constitution and its Bill of Rights. Perhaps most of all they see it as a symbol of individual and personal liberty like those put forth in the U.S. Declaration of Independence. There are special rules of displaying the flag indoors and outdoors. One of them, for example, is that the flag should be raised briskly and lowered slowly and ceremoniously. Some other rules show how seriously Americans treat their flag. For example, no other flag ever should be placed above it or the flag of the United States is always the first flag raised and the last to be lowered. The flag has gone through  26 changes since the new union of 13 states first adopted it. The 48-star version holds the record, 47 years, for the longest time the flag has gone unchanged. The current 50-star version will tie the record if it is still in use on July 4, 2007. Coat of Arms and The Great Seal of the United States Though the United States has never adopted any “national coat of arms”, the image from the obverse of the great seal is often used informally as national arms, and is used on state documents such as passports. The Great Seal is used to authenticate certain documents issued by the United States government. The Great Seal was first publicly used in 1782. The main figure on the front of the seal is a Bald Eagle with its wings outstretched. It holds a bundle of arrows in the left talon and an olive branch in the right, symbolic respectively of war and peace, with its head turned to the right, symbolizing a preference for peace. The eagle clutches the motto “E Pluribus Unum” (Out of many, one) in its beak; over its head there appears a “glory” with thirteen stars on a blue field. The shield the eagle bears on its breast has two main differences from the American flag; it has no stars on the blue chief and unlike the flag the outermost stripes are white, not red.

TASK 2:
Answer the questions:

1. Where is a blue rectangle situated ?
2. What do the red stripes proclaim ?
3. When was the US flag raised?
4. What was  first publicly used in 1782? 
5. What were the original states ?

TASK 3: Choose the appropriate variant. 

1. The UK is situated on a) the south-western coast of Europe b) the west coast of Europe c) the north-western coast of Europe
2. The UK is separated from the continent a) by the Irish Sea b) by the Atlantic Ocean c) by the English Channel 
3. The population of the UK is a) over 64mln people b) over 70 million people c) over 50 million people. 
4. The longest river in the UK is a) the Severn b) the Thames c) the Spey 
5. Match the countries with their capitals 1) England a) Cardiff 2) Scotland b) Belfast 3) Wales c) London 4) Northern Ireland d) Edinburg












Вариант 2



TASK 1: Read the text and translate from  English into Russian.

England, Scotland, Wales and Northern Ireland, English is the language predominantly spoken. It belongs to the western sub-branch of the Germanic branch of the Indo-European family of languages. In Wales, however, Welsh, a form of British Celtic, is spoken by 21 per cent of the population. Almost all residents of Scotland speak English. Slightly greater than 1% of the population (88,000 persons) use Scottish Gaelic as their language of everyday use. In the Channel Islands most people speak English, but French is also spoken by some people. English is descended from the language spoken by the Germanic tribes, the Angles, Saxons, and Jutes. By the end of the 6th and the beginning of the 7th century seven kingdoms were formed on the territory of Britain conquered by the Germanic tribes: Northumbria, Mercia, East Anglia, Kent, Essex, Sussex, and Wessex. These Germanic invaders dominated the original Celtic-speaking inhabitants, the languages of whom survived largely in Scotland, Wales, Cornwall, and Ireland. The dialects spoken by these invaders formed what would be called Old English which was a very similar language to modem Frisian which was also strongly influenced by yet another Germanic dialect, Old Norse, spoken by Viking invaders who settled mainly in the North-East. For the 300 years following the Norman Conquest in 1066, the Kings of England spoke only French. A large number of French words were assimilated into Old English, which also lost most of its inflections, the result being Middle English. Around the year 1500, the Great Vowel Shift transformed Middle English to Modem English.The most famous surviving works from Old and Middle English are Beowulf and Geoffrey Chaucer’s The Canterbury Tales. Modern English began its rise around the time of William Shakespeare. 
Each country in Britain has its own patron saint and floral emblem: England - St. George and the Rose. The national flower of England is the rose. The flower has been adopted as England’s emblem since the time of the Wars of the Roses - civil wars (1455-1485) between the royal house of Lancaster (whose emblem was a red rose) and the royal house of York (whose emblem was a white rose). Scotland - St. Andrew and the Scottish Bluebell. The national flower of Scotland is commonly thought to be the thistle, a prickly-leaved purple flower which was first used in the 15th century as a symbol of defence. However, the national flower is in fact the Scottish bluebell. Wales - St. David and the Daffodil. The national flower of Wales is the daffodil, which is traditionally worn on St. David’s Day. The vegetable called leek is also considered to be a traditional emblem of Wales. There are many explanations of how the leek came to be adopted as the national emblem of Wales. One is that St David advised the Welsh, on the eve of battle with the Saxons, to wear leeks in their caps to distinguish friend from foe. As Shakespeare records in Henry V, the Welsh archers wore leeks at the battle of Agincourt in 1415. Northern Ireland - St. Patrick and the Shamrock. The national flower of Northern Ireland is the shamrock, a three-leaved plant similar to clover. 

TASK 2:
Answer the questions:
1. Where is English predominantly spoken?
2. Who uses Scottish Gaelic as their language?
3. What are the most famous surviving works from Old and Middle English?
4. Who has  its own patron saint and floral emblem?
5. What is the national flower of Scotland?

TASK 3: Choose the appropriate variant.

1. Match the countries and their symbols 1) England a) shamrock 2) Scotland b) rose 3) Wales c) thistle 4) Northern Ireland d) daffodil 
2. English can be divided into: a) 2 categories b) 4 categories c) 3 categories 
3. Which country is not introduced on the Union Jack? a) Scotland b) Wales c) Northern Ireland 
4. Who is the Patron of Scotland? a) Saint Andrew b) Saint Patrick c) Saint George
5. What’s the currency in Britain? a) punt b) euro c) dollar d) pound

















Вариант 3

TASK 1: Read the text and translate from  English into Russian.

The foundation of the Labour Party by the Trade Union Congress at the beginning of the 20-th c. was a very significant step forward for the labour movement. The British Labour Party is a Democratic Socialist Party; its central idea is the brotherhood of men. It was established in 1900. The main aim was to win working class representation in Parliament. The main aim was to win working class representatives in British Parliament. This was initially reflected in the name of the party. First name was - “Labour Representation Committee”. In 1906 this Committee officially adopted the title of the Labour Party. The Labour Party is the party of social democratic Reformism. And in all the tears of the Labour Party existence the conflict between the working class policies and the policies of the leadership reflects in the struggle between Right and Left Wings in this labour movement. The Labour Party has always been known as association of different class elements: the working class and the groups of the petty bourgeoisie; the working class mass organizations, the trade unions provided the main body of the membership and the finance of the party. As other parties the party has no long-term political programme, which would determine the final aims and means to achieve them. Instead the party endorses current political issues containing measures, which the future labour government intends to implement if the party takes office as a result of a majority in the general elections. The home policy of the Labour Party is based on the principles of stability of society. In the spirit of Reformism and Right Wing opportunism of the Labour Party the politicians comprehend the necessity of earring out limited socio-economic reforms within the framework of the existing capitalism; in this context they favour nationalization of the economy (they are for greater state control of the economy), nationalization of state-run health and educational systems, some improvements in social security, better housing. Speaking about foreign policy, the Labour Party politicians in comparison with the conservatives and liberals display the greater flexibility, and in their policy statements support peace especially in Europe, arms control and 84 improvement of relations with European countries especially postsocialist. There are about 9 million members in the Labour Party now. In the post-war period the Labour Party was in office in 1945-1951, 1964-1970, since 1998. In opposition the party elects by secret ballot “the Shadow Cabinet” to guide the activity of the Labour Party in the House of Commons. Principles of Labour Party It’s a democratic socialist party. Its central idea is “brotherhood of men” and its purpose is to make this idea a reality everywhere in Britain. The first point is that it rejects race discrimination and recognizes fundamental dignity of man; 2nd it seeks to build a world order within which all will live in peace; 3rd it stands for social justice; 4th its aim is a classless society from which all class bearers and false social bearer have been eliminated; 5th its goals are full employment rising production, stable prices and steadily advancing living standard; 6th it stands for democracy in industry; 7th it stands for the happiness and freedom of the individual against the glorification of the state. A master of presentation, Tony Blair, worked hard to change the image of the Labour Party from an old- fashioned, working class movement to New Labour: a party for everyone. After all, the privately-educated Blair didn’t come from a traditional labour background himself. And his repackaging of Labour worked.

TASK 2:
Answer the questions:
1. What is  the British Labour Party?
2. When did Committee officially adopt the title of the Labour Party?
3. What is the brotherhood of men?
4. What rejects race discrimination and recognizes fundamental dignity of man?
5. Who tried to change the image of the Labour Party?


TASK 3: Choose the appropriate variant.

1. What is the financial district in London called? a) The South Bank b) The City c) The Village d) The Market Place 
2. What is the political system in Britain? a) totalitarianism b) constitutional monarchy c) absolute monarchy d) democracy 88 
3. Monarchy exists in Britain for more than a) 500 years b) 1000 years c) 2000 years 
4. When was the coronation of the Queen? a) 16 April 1953 b) 6 February 1952 c) 2 June 1953 
5. How old was the Queen when she was crowned? a) 18 b) 21 c) 25









Вариант 4

        TASK 1: Read the text and translate from  English into Russian.

Climate of the USA is mostly temperate, but tropical in Hawaii and Florida, arctic in Alaska, semiarid in the Great Plains west of the Mississippi River, and arid in the Great Basin of the southwest. Low winter temperatures in the northwest are ameliorated occasionally in January and February by warm winds from the eastern slopes of the Rocky Mountains. The climate varies along with the landscape. Most of the North and Hast experience a temperate continental climate, with warm summers and cold winters. Most of the American South experiences a subtropical humid climate with mild winters and long, hot, humid summers. Rainfall decreases markedly from the humid forests of the Eastern Great Plains to the semiarid shortgrass prairies on the High Plains abutting the Rocky Mountains. Arid deserts extend through the lowlands and valleys of the American Southwest from westernmost Texas to California and northward throughout much of Nevada. Some parts of the American West, including San Francisco, California, have a Mediterranean climate. Rain forests line the windward mountains of the Pacific Northwest from Oregon to Alaska. Natural hazards are quite typical of United States: tsunamis, volcanoes, and earthquake activity around Pacific Basin; hurricanes along the Atlantic and Gulf of-Mexico coasts; tornadoes in the midwest and southeast; mud slides in California; forest fires in the west; flooding; permafrost in northern Alaska. Due to the climate and geographical position the following natural resources are found in the USA: coal, copper, lead, molybdenum, phosphates, uranium, bauxite, gold, iron, mercury, nickel, potash, silver, tungsten, zinc, petroleum, natural gas and timber. Rivers There are many rivers in the USA, which cross the state and even international boundaries. The Mississippi is one of the world’s great continental rivers. The Mississippi River is the second-longest river in the United States; the longest is the Missouri River, which flows into the Mississippi. Taken together, they 95 form the largest river system in North America. If measured from the head of the Missouri, the length of the Missouri/Mississippi combination is approximately 3,895 miles (6,270 km) long. With its source Lake Itasca at 1475 feet (450 m) above sea level in Itasca State Park in northern Minnesota, the Mississippi river falls to 725 feet (220 m) just below Saint Anthony Falls in Minneapolis. The Mississippi is joined by the Illinois River and the Missouri River at Saint Louis, and by the Ohio at Cairo, Illinois. The river is divided into the upper Mississippi, from its source south to the Ohio River, and the lower Mississippi, from the Ohio to its mouth near New Orleans. The upper Mississippi is further divided into three sections: the headwaters, from the source to Saint Anthony Falls; a series of man-made lakes between Minneapolis and St. Louis; and the middle Mississippi, a relatively freeflowing river downstream of the confluence with the Missouri River at St. Louis The Missouri River is the main tributary of the Mississippi River in the United States. At about (4,130 km) in length, it is the longest river in the United States and drains approximately one-sixth of the North American continent. The combined Missouri-Mississippi river system is the fourth longest river in the world. The headwaters of the Missouri are in the Rocky Mountain of southwestern Montana. The river rises in the Jefferson and Madison rivers.

TASK 2:
Answer the questions:

1.What decreases markedly from the humid forests of the Eastern Great Plains?
2. Why are Natural hazards quite typical of United States?
3. What  is the second-longest river in the United States?
4. Is the upper Mississippi further divided into three sections?
5. Where are the headwaters of the Missouri?
TASK 3: Choose the appropriate variant.

1.Which of the titles doesn’t belong to the Queen? a) Supreme Governor of Church of England b) the Head of the Government c) Governor General d) Commandeering Chief of the Armed Services 
2. How many times a week does the Prime Minister meet the Queen? a) twice a week b) once a week c) 5 days a week d) 3 days a week 
3. Who is the Prime Minister of the UK? a) David Cameron b) Theresa May c) Andrea Leadsom d) Margaret Thatcher 
4. What is the governing political party in GB? a) Liberal Party b) Labour Party c) Conservative Party 
5.Which city in the UK hosted the 2012 Paralympic Games? a) London b) Cardiff c) Belfast d) Liverpool .

image1.jpeg




